Electronic Journal of Differential Equations, Vol. 2017 (2017), No. 282, pp. 1-13. ISSN: 1072-6691. URL: http://ejde.math.txstate.edu or http://ejde.math.unt.edu

# LEAST ENERGY SIGN-CHANGING SOLUTIONS FOR THE NONLINEAR SCHRÖDINGER-POISSON SYSTEM 

CHAO JI, FEI FANG, BINLIN ZHANG<br>Communicated by Vicentiu D. Radulescu


#### Abstract

This article concerns the existence of the least energy sign-changing solutions for the Schrödinger-Poisson system $$
\begin{gathered} -\Delta u+V(x) u+\lambda \phi(x) u=f(u), \quad \text { in } \mathbb{R}^{3}, \\ -\Delta \phi=u^{2}, \quad \text { in } \mathbb{R}^{3} . \end{gathered}
$$

Because the so-called nonlocal term $\lambda \phi(x) u$ is involved in the system, the variational functional of the above system has totally different properties from the case of $\lambda=0$. By constraint variational method and quantitative deformation lemma, we prove that the above problem has one least energy sign-changing solution. Moreover, for any $\lambda>0$, we show that the energy of a sign-changing solution is strictly larger than twice of the ground state energy. Finally, we consider $\lambda$ as a parameter and study the convergence property of the least energy sign-changing solutions as $\lambda \searrow 0$.


## 1. Introduction

In this article, we are interested in the existence, energy property of signchanging solution $u_{\lambda}$ and a convergence property of $u_{\lambda}$ as $\lambda \searrow 0$ for the nonlinear Schrödinger-Poisson system

$$
\begin{gather*}
-\Delta u+V(x) u+\lambda \phi(x) u=f(u), \quad \text { in } \mathbb{R}^{3}, \\
-\Delta \phi=u^{2}, \quad \text { in } \mathbb{R}^{3}, \tag{1.1}
\end{gather*}
$$

where $\lambda>0$ is a parameter. We assume that $f \in C^{1}(\mathbb{R}, \mathbb{R})$ and satisfies the following hypotheses:
(H1) $f(t)=o(|t|)$ as $t \rightarrow 0$.
(H2) $|f(t)| \leq C\left(1+|t|^{p}\right)$ for all $t \in \mathbb{R}$ and $3<p<5$.
(H3) $\lim _{t \rightarrow \infty} F(t) / t^{4}=+\infty$, where $F(t)=\int_{0}^{t} f(s) d s$.
(H4) $f(t) /|t|^{3}$ is an increasing function of $t$ on $\mathbb{R} \backslash\{0\}$.
We assume the potential $V(x)$, satisfies
(H5) $V(x) \in C\left(\mathbb{R}^{3}, \mathbb{R}\right), \inf _{x \in \mathbb{R}^{3}} V(x)>0$ and $\lim _{|x| \rightarrow \infty} V(x)=+\infty$.

[^0]We define the Sobolev space

$$
H=\left\{u \in H^{1}\left(\mathbb{R}^{3}\right): \int_{\mathbb{R}^{3}} V(x) u^{2} d x<\infty\right\}
$$

with the norm

$$
\|u\|=\left(\int_{\mathbb{R}^{3}}\left(|\nabla u|^{2}+V(x) u^{2}\right) d x\right)^{1 / 2}, \quad \forall u \in H
$$

By (H5), it follows that for $2 \leq q<6$, the embedding $H \hookrightarrow L^{q}\left(\mathbb{R}^{3}\right)$ is compact, see [7]. In fact, the condition (H5) may be weaken, for example, we refer to [6, 7] for more details.

In recent years, there has been a great deal work dealing with problem 1.1), specially on the existence of positive solutions, ground states and semiclassical states, see for examples, [2, 33, 4, 11, 12, 13, 18, 19, 21, 22, 25, 28, etc. To the best of our knowledge, there are very few results about the existence of sign-changing solutions for problem (1.1). Recently, in [14], the authors study the infinitely many sign-changing solutions for the nonlinear Schrödinger-Poisson system. And in [26], the authors studied the existence of sign-changing solutions for a SchrödingerPoisson system with pure power nonlinearity $|u|^{p-1} u$, moreover, only when $\lambda>0$ is small enough, the authors showed that the energy of any sign-changing solution is strictly larger than the least energy. However, their method strongly depends on the fact that the nonlinearity is homogeneous, so it is difficult to apply their method to our problem.

For $u \in H$. Let $\phi_{u}$ be unique solution of $-\Delta \phi=u^{2}$ in $D^{1,2}\left(\mathbb{R}^{3}\right)$, then

$$
\phi_{u}(x)=\frac{1}{4 \pi} \int_{\mathbb{R}^{3}} \frac{u^{2}(y)}{|x-y|} d y
$$

The weak solutions to problem (1.1) are the critical points of the functional defined by

$$
I_{\lambda}(u)=\frac{1}{2} \int_{\mathbb{R}^{3}}\left(|\nabla u|^{2}+V(x)|u|^{2}\right) d x+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u} u^{2} d x-\int_{\mathbb{R}^{3}} F(u) d x .
$$

Then $I_{\lambda} \in C^{1}(H, \mathbb{R})$ and for any $\psi \in H$,

$$
\left\langle I_{\lambda}^{\prime}(u), \psi\right\rangle=\int_{\mathbb{R}^{3}}(\nabla u \nabla \psi+V(x) u \psi) d x+\lambda \int_{\mathbb{R}^{3}} \phi_{u} u \psi d x-\int_{\mathbb{R}^{3}} f(u) \psi d x
$$

We call $u$ a least energy sign-changing solution to problem 1.1) if $u$ is a solution of problem 1.1 with $u^{ \pm} \neq 0$ and

$$
I_{\lambda}(u)=\inf \left\{I_{\lambda}(v): v^{ \pm} \neq 0, I_{\lambda}^{\prime}(v)=0\right\}
$$

where $u^{+}=\max \{u(x), 0\}$ and $u^{-}=\min \{u(x), 0\}$.
When $\lambda=0$, problem (1.1) does not depend on the nonlocal term $\phi_{u}(x)$ any more, that is, it becomes to the following semilinear local equation

$$
\begin{equation*}
-\Delta u+V(x) u=f(u), \quad \text { in } \mathbb{R}^{3} \tag{1.2}
\end{equation*}
$$

There are several ways in the literature to obtain sign-changing solutions for equation (1.2), see for instance [5, 8, 10, 16, 17, 20, 29, 30, 31. However, all these methods heavily relay on the following decompositions:

$$
\begin{gather*}
I_{0}(u)=I_{0}\left(u^{+}\right)+I_{0}\left(u^{-}\right)  \tag{1.3}\\
\left\langle I_{0}^{\prime}(u), u^{+}\right\rangle=\left\langle I_{0}^{\prime}\left(u^{+}\right), u^{+}\right\rangle \quad \text { and } \quad\left\langle I_{0}^{\prime}(u), u^{-}\right\rangle=\left\langle I_{0}^{\prime}\left(u^{-}\right), u^{-}\right\rangle, \tag{1.4}
\end{gather*}
$$

where

$$
I_{0}(u)=\frac{1}{2} \int_{\mathbb{R}^{3}}\left(|\nabla u|^{2}+V(x)|u|^{2}\right) d x-\int_{\mathbb{R}^{3}} F(u) d x
$$

Furthermore, (1.3) and (1.4) imply that the energy of any sign-changing solution to (1.2) is larger than two times the least energy in $H$. However, for the case $\lambda>0$, due to the effect of the nonlocal term, the functional $I_{\lambda}$ no longer possesses the same decompositions as (1.3), 1.4. Indeed, we have

$$
\begin{align*}
I_{\lambda}(u)=I_{\lambda}\left(u^{+}\right)+I_{\lambda}\left(u^{-}\right) & +\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{+}\right)^{2} d x+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{-}\right)^{2} d x  \tag{1.5}\\
\left\langle I_{\lambda}^{\prime}(u), u^{+}\right\rangle & =\left\langle I_{\lambda}^{\prime}\left(u^{+}\right), u^{+}\right\rangle+\lambda \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{+}\right)^{2} d x  \tag{1.6}\\
\left\langle I_{\lambda}^{\prime}(u), u^{-}\right\rangle & =\left\langle I_{\lambda}^{\prime}\left(u^{-}\right), u^{-}\right\rangle+\lambda \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{-}\right)^{2} d x . \tag{1.7}
\end{align*}
$$

So the methods to obtain sign-changing solutions of the local problem 1.2 and to estimate the energy of the sign-changing solutions seem not suitable for our nonlocal one 1.1.

To obtain a sign-changing solution for problem (1.1), borrowing the idea in [23], we first try to seek a minimizer of the energy functional $I_{\lambda}$ over the following constraint:

$$
\mathcal{M}_{\lambda}=\left\{u \in H: u^{ \pm} \neq 0,\left\langle I_{\lambda}^{\prime}(u), u^{+}\right\rangle=\left\langle I_{\lambda}^{\prime}(u), u^{-}\right\rangle=0\right\}
$$

and then we show that the minimizer is a sign-changing solution of 1.1). Note that the paper [8] is concerned with equation $\sqrt{1.2)}$, but in our problem 1.1 ) the nonlocal term is involved such that the properties (1.3), (1.4) fail, and it is rather difficult to show that $\mathcal{M}_{\lambda} \neq \emptyset$. To prove it, in [24], the authors used the parametric method and implicit function theorem, this makes the problem very complicated, here we use Miranda's Theorem in [15], which was first used in [1] for the least energy sign-changing solution to Schrödinger-Poisson system on bounded domain and can greatly simplify the proof in [24]. To show that the minimizer of the constrained problem is a sign-changing solution, we will use the quantitative deformation lemma and degree theory.

The following are the main results of this article.
Theorem 1.1. Let (H1)-(H5) hold. Then for any $\lambda>0$, problem 1.1) has a least energy sign-changing solution $u_{\lambda}$, which has precisely two nodal domains.

In [26] the authors proved that the energy of any sign-changing solution is strictly larger than the least energy only when $\lambda>0$ is small enough, here we improve it to the case for any $\lambda>0$. In order to describe our result, some notations are needed. Let

$$
\begin{gather*}
\mathcal{N}_{\lambda}:=\left\{u \in H \backslash\{0\}:\left\langle I_{\lambda}^{\prime}(u), u\right\rangle=0\right\},  \tag{1.8}\\
c_{\lambda}:=\inf _{u \in \mathcal{N}_{\lambda}} I_{\lambda}(u) \tag{1.9}
\end{gather*}
$$

Let $u_{\lambda} \in H$ be a sign-changing solution of problem (1.1), it is clear from 1.6) and (1.7) that $u_{\lambda}^{ \pm} \notin \mathcal{N}_{\lambda}$.

Theorem 1.2. Under the assumptions of Theorem 1.1, $c_{\lambda}>0$ is achieved and $I_{\lambda}\left(u_{\lambda}\right)>2 c_{\lambda}$, where $u_{\lambda}$ is the least energy sign-changing solution obtained in Theorem 1.1. In particular, $c_{\lambda}>0$ is achieved either by a positive or a negative function.

It is evident that the energy of the sign-changing solution $u_{\lambda}$ obtained in Theorem 1.1 depends on $\lambda$. As a by-product of this paper, we give a convergence property of $u_{\lambda}$ as $\lambda \searrow 0$, which reflects some relationship between $\lambda>0$ and $\lambda=0$ in problem (1.1).

Theorem 1.3. If the assumptions of Theorem 1.1 hold, then for any sequence $\lambda_{n}$ with $\lambda_{n} \searrow 0$ as $n \rightarrow \infty$, there exists a subsequence, still denoted by $\lambda_{n}$, such that $u_{\lambda_{n}} \rightarrow u_{0}$ strongly in $H$ as $n \rightarrow \infty$, where $u_{0}$ is a least energy sign-changing solution of the problem

$$
\begin{gather*}
-\Delta u+V(x) u=f(u), \quad \text { in } \mathbb{R}^{3}, \\
u \in H, \tag{1.10}
\end{gather*}
$$

which has precisely two nodal domains.
This paper is organized as follows. In Section2, we present some preliminary lemmas which are essential for this paper. In Section 3, we give the proofs of Theorems 1.11 .3 respectively.

## 2. Some technical lemmas

In the sequel, we will use constraint minimization on $\mathcal{M}_{\lambda}$ to look for a critical point of $I_{\lambda}$. For this, we start with this section by claiming that the set $\mathcal{M}_{\lambda}$ is nonempty in $H$.

Lemma 2.1. Assume that (H1)-(H5) hold, if $u \in H$ with $u^{ \pm} \neq 0$, then there exists a unique pair $\left(s_{u}, t_{u}\right) \in \mathbb{R}_{+} \times \mathbb{R}_{+}$such that $s_{u} u^{+}+t_{u} u^{-} \in \mathcal{M}_{\lambda}$.

Proof. Fixed $u \in H$ with $u^{ \pm} \neq 0$. We first establish the existence of $s_{u}, t_{u}$. Let

$$
\begin{align*}
g(s, t)= & \left\langle I_{\lambda}^{\prime}\left(s u^{+}+t u^{-}\right), s u^{+}\right\rangle \\
= & s^{2}\left\|u^{+}\right\|^{2}+s^{4} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{+}\right)^{2} d x+s^{2} t^{2} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{+}\right)^{2} d x  \tag{2.1}\\
& -\int_{\mathbb{R}^{3}} f\left(s u^{+}\right) s u^{+} d x \\
h(s, t)= & \left\langle I_{\lambda}^{\prime}\left(s u^{+}+t u^{-}\right), t u^{-}\right\rangle \\
= & t^{2}\left\|u^{-}\right\|^{2}+t^{4} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{-}\right)^{2} d x+s^{2} t^{2} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{-}\right)^{2} d x  \tag{2.2}\\
& -\int_{\mathbb{R}^{3}} f\left(t u^{-}\right) t u^{-} d x .
\end{align*}
$$

From $\left(f_{1}\right)$ and (H3), it is easy to obtain that $g(s, s)=0, h(s, s)>0$ for $s>0$ small and $g(t, t)<0, h(t, t)>0$ for $t>0$ large. Hence there exist $0<r<R$ such that

$$
\begin{equation*}
g(r, r)>0, \quad h(r, r)>0, \quad g(R, R)<0, \quad h(R, R)<0 \tag{2.3}
\end{equation*}
$$

From (2.1), 2.2) and (2.3), we have

$$
\begin{array}{lll}
g(r, \beta)>0, & g(\beta, R)<0, & \forall \beta \in[r, R], \\
h(\alpha, r)>0, & h(R, \alpha)<0, & \forall \alpha \in[r, R] .
\end{array}
$$

By Miranda's Theorem [15], there exists some point ( $s_{u}, t_{u}$ ) with $\alpha<s_{u}, t_{u}<\beta$ such that $g\left(s_{u}, t_{u}\right)=h\left(s_{u}, t_{u}\right)=0$. So $s_{u} u^{+}+t_{u} u^{-} \in \mathcal{M}_{\lambda}$.

Now we show that the pair $\left(s_{u}, t_{u}\right)$ is unique and consider it in two cases. If $u \in \mathcal{M}_{\lambda}$, then $u^{+}+u^{-}=u \in \mathcal{M}_{\lambda}$. It means that

$$
\left\langle I_{\lambda}^{\prime}(u), u^{+}\right\rangle=\left\langle I_{\lambda}^{\prime}(u), u^{-}\right\rangle=0
$$

that is,

$$
\begin{equation*}
\left\|u^{+}\right\|^{2}+\lambda \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{+}\right)^{2} d x+\lambda \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{+}\right)^{2} d x=\int_{\mathbb{R}^{3}} f\left(u^{+}\right) u^{+} d x \tag{2.4}
\end{equation*}
$$

and

$$
\begin{equation*}
\left\|u^{-}\right\|^{2}+\lambda \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{-}\right)^{2} d x+\lambda \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{-}\right)^{2} d x=\int_{\mathbb{R}^{3}} f\left(u^{-}\right) u^{-} d x \tag{2.5}
\end{equation*}
$$

We show that $\left(s_{u}, t_{u}\right)=(1,1)$ is the unique pair of numbers such that $s_{u} u^{+}+t_{u} u^{-} \in$ $\mathcal{M}_{\lambda}$.

Assume that $\left(\tilde{s}_{u}, \tilde{t}_{u}\right)$ is another pair of numbers such that $\tilde{s}_{u} u^{+}+\tilde{t}_{u} u^{-} \in \mathcal{M}_{\lambda}$. By the definition of $\mathcal{M}_{\lambda}$, we have

$$
\begin{align*}
& \tilde{s}_{u}^{2}\left\|u^{+}\right\|^{2}+\tilde{s}_{u}^{4} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{+}\right)^{2} d x+\tilde{s}_{u}^{2} \tilde{t}_{u}^{2} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{+}\right)^{2} d x \\
& =\int_{\mathbb{R}^{3}} f\left(\tilde{s}_{u} u^{+}\right) \tilde{s}_{u} u^{+} d x  \tag{2.6}\\
& \tilde{t}_{u}^{2}\left\|u^{-}\right\|^{2}+\tilde{t}_{u}^{4} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{-}\right)^{2} d x+\tilde{s}_{u}^{2} \tilde{t}_{u}^{2} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{-}\right)^{2} d x  \tag{2.7}\\
& =\int_{\mathbb{R}^{3}} f\left(\tilde{t}_{u} u^{-}\right) \tilde{t}_{u} u^{-} d x .
\end{align*}
$$

Without loss of generality, we may assume that $0<\tilde{s}_{u} \leq \tilde{t}_{u}$. Then, from (2.6), we have

$$
\tilde{s}_{u}^{2}\left\|u^{+}\right\|^{2}+\tilde{s}_{u}^{4} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{+}\right)^{2} d x+\tilde{s}_{u}^{4} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{+}\right)^{2} d x \leq \int_{\mathbb{R}^{3}} f\left(\tilde{s}_{u} u^{+}\right) \tilde{s}_{u} u^{+} d x
$$

Moreover, we have

$$
\begin{equation*}
\tilde{s}_{u}^{-2}\left\|u^{+}\right\|^{2}+\lambda \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{+}\right)^{2} d x+\lambda \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{+}\right)^{2} d x \leq \int_{\mathbb{R}^{3}} \frac{f\left(\tilde{s}_{u} u^{+}\right) \tilde{s}_{u}}{\tilde{s}_{u}^{3}} u^{+} d x \tag{2.8}
\end{equation*}
$$

By (2.8) and (2.4), one has

$$
\begin{equation*}
\left(\tilde{s}_{u}^{-2}-1\right)\left\|u^{+}\right\|^{2} \leq \int_{\mathbb{R}^{3}}\left(\frac{f\left(x, \tilde{s}_{u} u^{+}\right)}{\left(\tilde{s}_{u} u^{+}\right)^{3}}-\frac{f\left(x, u^{+}\right)}{\left(u^{+}\right)^{3}}\right)\left(u^{+}\right)^{4} d x . \tag{2.9}
\end{equation*}
$$

It follows from (H4) and 2.9 that $1 \leq \tilde{\alpha}_{u} \leq \tilde{\beta}_{u}$. By the same method, we may get $\tilde{\beta}_{u} \leq 1$ by (H4), 2.5) and (2.7), which shows that $\tilde{\alpha}_{u}=\tilde{\beta}_{u}=1$.

If $u \notin \mathcal{M}_{\lambda}$, then there exists a pair of positive numbers $\left(\alpha_{u}, \beta_{u}\right)$ such that $\alpha_{u} u^{+}+$ $\beta_{u} u^{-} \in \mathcal{M}_{\lambda}$. Suppose that there exists another pair of positive numbers $\left(\alpha_{u}^{\prime}, \beta_{u}^{\prime}\right)$ such that $\alpha_{u}^{\prime} u^{+}+\beta_{u}^{\prime} u^{-} \in \mathcal{M}_{\lambda}$. Set $v:=\alpha_{u} u^{+}+\beta_{u} u^{-}$and $v^{\prime}:=\alpha_{u}^{\prime} u^{+}+\beta_{u}^{\prime} u^{-}$, we have

$$
\frac{\alpha_{u}^{\prime}}{\alpha_{u}} v^{+}+\frac{\beta_{u}^{\prime}}{\beta_{u}} v^{-}=\alpha_{u}^{\prime} u^{+}+\beta_{u}^{\prime} u^{-}=v^{\prime} \in \mathcal{M}_{\lambda}
$$

Since $v \in \mathcal{M}_{\lambda}$, we obtain that $\alpha_{u}=\alpha_{u}^{\prime}$ and $\beta_{u}=\beta_{u}^{\prime}$, which implies that $\left(\alpha_{u}, \beta_{u}\right)$ is the unique pair of numbers such that $\alpha_{u} u^{+}+\beta_{u} u^{-} \in \mathcal{M}_{\lambda}$. The proof is complete.

Lemma 2.2. Assume that (H1)-(H5) hold. For a fixed $u \in H$ with $u^{ \pm} \neq 0$. If $g_{1}(1,1) \leq 0$ and $h_{1}(1,1) \leq 0$, then there exists a unique pair $\left(s_{u}, t_{u}\right) \in(0,1] \times(0,1]$ such that $g_{1}\left(s_{u}, t_{u}\right)=h_{1}\left(s_{u}, t_{u}\right)=0$.

Proof. Suppose that $s_{u} \geq t_{u}>0$. By Lemma 2.1. we know that $s_{u} u^{+}+t_{u} u^{-} \in \mathcal{M}_{\lambda}$, then

$$
\begin{align*}
& s_{u}^{2}\left\|u^{+}\right\|^{2}+s_{u}^{4} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{+}\right)^{2} d x+s_{u}^{4} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{+}\right)^{2} d x \\
& \geq s_{u}^{2}\left\|u^{+}\right\|^{2}+s_{u}^{4} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{+}\right)^{2} d x+s_{u}^{2} t_{u}^{2} \lambda \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{+}\right)^{2} d x  \tag{2.10}\\
& =\int_{\mathbb{R}^{3}} f\left(s_{u} u^{+}\right) s_{u} u^{+} d x .
\end{align*}
$$

Moreover, $g_{1}(1,1) \leq 0$ implies that

$$
\begin{equation*}
\left\|u^{+}\right\|^{2}+\lambda \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{+}\right)^{2} d x+\lambda \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{+}\right)^{2} d x \leq \int_{\mathbb{R}^{3}} f\left(u^{+}\right) u^{+} d x . \tag{2.11}
\end{equation*}
$$

Combining (2.4) with 2.5 , we have

$$
\left(\frac{1}{s_{u}^{2}}-1\right)\left\|u^{+}\right\|^{2} \geq \int_{\mathbb{R}^{3}}\left(\frac{f\left(s_{u} u^{+}\right)}{\left(s_{u} u^{+}\right)^{3}}-\frac{f\left(u^{+}\right)}{\left(u^{+}\right)^{3}}\right)\left|u^{+}\right|^{4} d x
$$

If $s_{u}>1$, the left-hand side of this inequality is negative. But from ( H 4 ), the right-hand side of this inequality is positive, so we have $s_{u} \leq 1$. The proof is thus complete.

Lemma 2.3. For a fixed $u \in H$ with $u^{ \pm} \neq 0$, then $\left(s_{u}, t_{u}\right)$ obtained in Lemma 2.1 is the unique maximum point of the function $\phi: \mathbb{R}_{+} \times \mathbb{R}_{+} \rightarrow \mathbb{R}$ defined as $\phi(s, t)=I_{\lambda}\left(s u^{+}+t u^{-}\right)$.

Proof. From the proof of Lemma 2.1. we know that $\left(s_{u}, t_{u}\right)$ is the unique critical point of $\phi$ in $\mathbb{R}_{+} \times \mathbb{R}_{+}$. By (H3), we conclude that $\phi(s, t) \rightarrow-\infty$ uniformly as $|(s, t)| \rightarrow \infty$, so it is sufficient to show that a maximum point cannot be achieved on the boundary of $\left(\mathbb{R}_{+}, \mathbb{R}_{+}\right)$. If we assume that $(0, \bar{t})$ is a maximum point of $\phi$. Then since

$$
\begin{aligned}
\phi(s, \bar{t})= & I_{\lambda}\left(s u^{+}+\bar{t} u^{-}\right) \\
= & \frac{s^{2}}{2}\left\|u^{+}\right\|^{2}+\frac{\lambda}{4} s^{4} \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{+}\right)^{2} d x-\int_{\mathbb{R}^{3}} F\left(s u^{+}\right) d x \\
& +\frac{\lambda}{4}\left(s^{2} \bar{t}^{2} \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{+}\right)^{2} d x+s^{2} \bar{t}^{2} \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{-}\right)^{2} d x\right) \\
& +\frac{\bar{t}^{2}}{2}\left\|u^{-}\right\|^{2}+\frac{\lambda}{4} \bar{t}^{4} \int_{\mathbb{R}^{3}} \phi_{u^{-}}\left(u^{-}\right)^{2} d x-\int_{\mathbb{R}^{3}} F\left(\bar{t} u^{-}\right) d x
\end{aligned}
$$

is an increasing function with respect to $s$ if $s$ is small enough, the pair $(0, \bar{t})$ is not a maximum point of $\phi$ in $\mathbb{R}_{+} \times \mathbb{R}_{+}$. The proof is now finished.

By Lemma 2.1, we define the minimization problem

$$
m_{\lambda}:=\inf \left\{I_{\lambda}(u): u \in \mathcal{M}_{\lambda}\right\} .
$$

Lemma 2.4. Assume that (H1)-(H5) hold, then $m_{\lambda}>0$ can be achieved for any $\lambda>0$.

Proof. For every $u \in \mathcal{M}_{\lambda}$, we have $\left\langle I_{\lambda}^{\prime}(u), u\right\rangle=0$. From $\left(f_{1}\right),\left(f_{2}\right)$, for any $\epsilon>0$, there exists $C_{\epsilon}>0$ such that

$$
\begin{equation*}
f(s) s \leq \epsilon s^{2}+C_{\epsilon}|s|^{p+1} \quad \text { for all } s \in \mathbb{R} . \tag{2.12}
\end{equation*}
$$

By Sobolev embedding theorem, we obtain

$$
\begin{align*}
\|u\|^{2} & \leq \int_{\mathbb{R}^{3}}\left(|\nabla u|^{2}+V(x)|u|^{2}\right) d x+\lambda \int_{\mathbb{R}^{3}} \phi_{u} u^{2} d x=\int_{\mathbb{R}^{3}} f(u) u d x \\
& \leq \epsilon \int_{\mathbb{R}^{3}}|u|^{2} d x+C_{\epsilon} \int_{\mathbb{R}^{3}}|u|^{p+1} d x  \tag{2.13}\\
& \leq C_{2} \epsilon\|u\|^{2}+C_{\epsilon}^{\prime}\|u\|^{p+1} .
\end{align*}
$$

Pick $\epsilon=1 /\left(2 C_{2}\right)$. So there exists a constant $\alpha>0$ such that $\|u\|^{2}>\alpha$. By (2.3), we have

$$
f(s) s-4 F(s) \geq 0
$$

Then

$$
I_{\lambda}(u)=I_{\lambda}(u)-\frac{1}{4}\left\langle I_{\lambda}^{\prime}(u), u\right\rangle \geq \frac{\|u\|^{2}}{4} \geq \frac{\alpha}{4}
$$

This implies that $I_{\lambda}(u)$ is coercive in $\mathcal{M}_{\lambda}$ and $m_{\lambda} \geq \frac{\alpha}{4}>0$.
Let $\left\{u_{n}\right\}_{n} \subset \mathcal{M}_{\lambda}$ be such that $I_{\lambda}\left(u_{n}\right) \rightarrow m_{\lambda}$. Then $\left\{u_{n}\right\}_{n}$ is bounded in $H$ and there exists $u_{\lambda} \in H$ such that $u_{n}^{ \pm} \rightharpoonup u_{\lambda}^{ \pm}$weakly in $H$. Since $u_{n} \in \mathcal{M}_{\lambda}$, we have $\left\langle I_{\lambda}^{\prime}\left(u_{n}\right), u_{n}^{ \pm}\right\rangle=0$, that is

$$
\left\|u_{n}^{ \pm}\right\|^{2}+\lambda \int_{\mathbb{R}^{3}} \phi_{u_{n}^{ \pm}}\left(u_{n}^{ \pm}\right)^{2} d x+\lambda \int_{\mathbb{R}^{3}} \phi_{u_{n}^{\mp}}\left(u_{n}^{ \pm}\right)^{2} d x-\int_{\mathbb{R}^{3}} f\left(u_{n}^{ \pm}\right) u_{n}^{ \pm} d x=0 .
$$

Similar as 2.7) we also have $\left\|u_{n}^{ \pm}\right\|^{2} \geq \beta$ for all $n \in N$, where $\beta$ is a constant.
Since $u_{n} \in \mathcal{M}_{\lambda}$, by 2.6 again, we have

$$
\beta \leq\left\|u_{n}^{ \pm}\right\|^{2}<\int_{\mathbb{R}^{3}} f\left(u_{n}^{ \pm}\right) u_{n}^{ \pm} d x \leq \epsilon \int_{\mathbb{R}^{3}}\left|u_{n}^{ \pm}\right|^{2} d x+C_{\epsilon} \int_{\mathbb{R}^{3}}\left|u_{n}^{ \pm}\right|^{p+1} d x
$$

In view of the boundedness of $\left\{u_{n}\right\}_{n}$, there is $C_{2}>0$ such that

$$
\beta \leq \epsilon C_{2}+C_{\epsilon} \int_{\mathbb{R}^{3}}\left|u_{n}^{ \pm}\right|^{p+1} d x .
$$

Choosing $\epsilon=\beta /\left(2 C_{2}\right)$, we obtain

$$
\begin{equation*}
\int_{\mathbb{R}^{3}}\left|u_{n}^{ \pm}\right|^{p+1} d x \geq \frac{\beta}{2 \bar{C}} \tag{2.14}
\end{equation*}
$$

where $\bar{C}$ is a positive constant, in fact, $\bar{C}=C_{\frac{\beta}{2 C_{2}}}$.
By 2.8) and the compact embedding $H \hookrightarrow L^{q}\left(\mathbb{R}^{3}\right)$ for $2 \leq q<6$, we obtain

$$
\int_{\mathbb{R}^{3}}\left|u_{\lambda}^{ \pm}\right|^{p+1} d x \geq \frac{\beta}{2 \bar{C}}
$$

Thus, $u_{\lambda}^{ \pm} \neq 0$. By $\left(f_{1}\right),\left(f_{2}\right)$, the compact embedding and [27, Theorem A.4],

$$
\begin{align*}
\lim _{n \rightarrow \infty} \int_{\mathbb{R}^{3}} f\left(u_{n}^{ \pm}\right) u_{n}^{ \pm} d x & =\int_{\mathbb{R}^{3}} f\left(u_{\lambda}^{ \pm}\right) u_{\lambda}^{ \pm} d x \\
\lim _{n \rightarrow \infty} \int_{\mathbb{R}^{3}} F\left(u_{n}^{ \pm}\right) d x & =\int_{\mathbb{R}^{3}} F\left(u_{\lambda}^{ \pm}\right) d x \tag{2.15}
\end{align*}
$$

By the weak semicontinuity of norm and Fatou's Lemma, we have

$$
\begin{aligned}
& \left\|u_{\lambda}^{ \pm}\right\|^{2}+\lambda \int_{\mathbb{R}^{3}} \phi_{u_{\lambda}^{ \pm}}\left(u_{\lambda}^{ \pm}\right)^{2} d x+\lambda \int_{\mathbb{R}^{3}} \phi_{u_{\lambda}^{\mp}}\left(u_{\lambda}^{ \pm}\right)^{2} d x \\
& \leq \liminf _{n \rightarrow \infty}\left\{\left\|u_{n}^{ \pm}\right\|^{2}+\lambda \int_{\mathbb{R}^{3}} \phi_{u_{n}^{ \pm}}\left(u_{n}^{ \pm}\right)^{2} d x+\lambda \int_{\mathbb{R}^{3}} \phi_{u_{n}^{\mp}}\left(u_{n}^{ \pm}\right)^{2} d x\right\} .
\end{aligned}
$$

From 2.9), we have

$$
\begin{equation*}
\left\|u_{\lambda}^{ \pm}\right\|^{2}+\lambda \int_{\mathbb{R}^{3}} \phi_{u_{\lambda}^{ \pm}}\left(u_{\lambda}^{ \pm}\right)^{2} d x+\lambda \int_{\mathbb{R}^{3}} \phi_{u_{\lambda}^{\mp}}\left(u_{\lambda}^{ \pm}\right)^{2} d x \leq \int_{\mathbb{R}^{3}} f\left(u_{\lambda}^{ \pm}\right) u_{\lambda}^{ \pm} d x \tag{2.16}
\end{equation*}
$$

From 2.10 and Lemma 2.2 there exists $\left(s_{u_{\lambda}}, t_{u_{\lambda}}\right) \in(0,1] \times(0,1]$ such that

$$
\bar{u}_{\lambda}:=s_{u_{\lambda}} u_{\lambda}^{+}+t_{u_{\lambda}} u_{\lambda}^{-} \in \mathcal{M}_{\lambda}
$$

Condition (H4) implies that $H(s):=s f(s)-4 F(s)$ is a non-negative function, increasing in $|s|$, so we have

$$
\begin{aligned}
m_{\lambda} \leq & I_{\lambda}\left(\bar{u}_{\lambda}\right)=I_{\lambda}\left(\bar{u}_{\lambda}\right)-\frac{1}{4}\left\langle I_{\lambda}^{\prime}\left(\bar{u}_{\lambda}\right), \bar{u}_{\lambda}\right\rangle \\
= & \frac{1}{4}\left\|\bar{u}_{\lambda}\right\|^{2}+\frac{1}{4} \int_{\mathbb{R}^{3}}\left(f\left(\bar{u}_{\lambda}\right) \bar{u}_{\lambda}-4 F\left(\bar{u}_{\lambda}\right)\right) d x \\
= & \frac{1}{4}\left\|s_{u_{\lambda}} u_{\lambda}^{+}\right\|^{2}+\frac{1}{4} \int_{\mathbb{R}^{3}}\left(f\left(s_{u_{\lambda}} u_{\lambda}^{+}\right) s_{u_{\lambda}} u_{\lambda}^{+}-4 F\left(s_{u_{\lambda}} u_{\lambda}^{+}\right)\right) d x \\
& +\frac{1}{4}\left\|t_{u_{\lambda}} u_{\lambda}^{-}\right\|^{2}+\frac{1}{4} \int_{\mathbb{R}^{3}}\left(f\left(t_{u_{\lambda}} u_{\lambda}^{-}\right) t_{u_{\lambda}} u_{\lambda}^{-}-4 F\left(t_{u_{\lambda}} u_{\lambda}^{-}\right)\right) d x \\
\leq & \frac{1}{4}\left\|u_{\lambda}\right\|^{2}+\frac{1}{4} \int_{\mathbb{R}^{3}}\left(f\left(u_{\lambda}\right) u_{\lambda}-4 F\left(u_{\lambda}\right)\right) d x \\
\leq & \liminf _{n \rightarrow \infty}\left[I_{\lambda}\left(u_{n}\right)-\frac{1}{4}\left\langle I_{\lambda}^{\prime}\left(u_{n}\right), u_{n}\right\rangle\right]=m_{\lambda} .
\end{aligned}
$$

Then we conclude that $s_{u_{\lambda}}=t_{u_{\lambda}}=1$. Thus, $\bar{u}_{\lambda}=u_{\lambda}$ and $I_{\lambda}\left(u_{\lambda}\right)=m_{\lambda}$.

## 3. Proof of main results

Proof of Theorem 1.1. We first prove that the minimizer $u_{\lambda}$ for the minimization problem is indeed a sign-changing solution of problem (1.1); that is, $I_{\lambda}^{\prime}\left(u_{\lambda}\right)=0$. For it, we will use the quantitative deformation lemma.

It is obvious that $I_{\lambda}^{\prime}\left(u_{\lambda}\right) u_{\lambda}^{+}=0=I_{\lambda}^{\prime}\left(u_{\lambda}\right) u_{\lambda}^{-}$. From Lemma 2.3 , for any $(s, t) \in$ $\mathbb{R}_{+} \times \mathbb{R}_{+}$and $(s, t) \neq(1,1)$,

$$
I_{\lambda}\left(s u_{\lambda}^{+}+t u_{\lambda}^{-}\right)<I_{\lambda}\left(u_{\lambda}^{+}+u_{\lambda}^{-}\right)=m_{\lambda}
$$

If $I_{\lambda}^{\prime}\left(u_{\lambda}\right) \neq 0$, then there exist $\delta>0$ and $\kappa>0$ such that

$$
\left\|I_{\lambda}^{\prime}(v)\right\| \geq \kappa \quad \text { for all }\left\|v-u_{\lambda}\right\| \leq 3 \delta
$$

Let $D:=\left(\frac{1}{2}, \frac{3}{2}\right) \times\left(\frac{1}{2}, \frac{3}{2}\right)$ and $g(s, t):=s u_{\lambda}^{+}+t u_{\lambda}^{-}$. From Lemma 2.3, we also have $\bar{m}_{\lambda}:=\max _{\partial D} I_{\lambda} \circ g<m_{\lambda}$.
For $\epsilon:=\min \left\{\left(m_{\lambda}-\bar{m}_{\lambda}\right) / 2, \kappa \delta / 8\right\}$ and $S:=B\left(u_{\lambda}, \delta\right)$, there is a deformation $\eta$ such that
(a) $\eta(1, u)=u$ if $u \notin I_{\lambda}^{-1}\left(\left[m_{\lambda}-2 \epsilon, m_{\lambda}+2 \epsilon\right]\right) \cap S_{2 \delta}$;
(b) $\eta\left(1, I_{\lambda}^{m_{\lambda}+\epsilon} \cap S\right) \subset I_{\lambda}^{m_{\lambda}-\epsilon}$;
(c) $\left.I_{\lambda}(\eta(1, u))\right) \leq I_{\lambda}(u)$ for all $u \in H$.

See [27] for more details. It is clear that

$$
\left.\max _{(s, t) \in \bar{D}} I_{\lambda}(\eta(1, g(s, t)))\right)<m_{\lambda}
$$

Now we prove that $\eta(1, g(D)) \cap \mathcal{M}_{\lambda} \neq \emptyset$ which contradicts to the definition of $m_{\lambda}$. Let us define $h(s, t)=\eta(1, g(s, t)))$ and

$$
\begin{gathered}
\Psi_{0}(s, t):=\left(I_{\lambda}^{\prime}(g(s, t)) u_{\lambda}^{+}, I_{\lambda}^{\prime}(g(s, t)) u_{\lambda}^{-}\right)=\left(I_{\lambda}^{\prime}\left(s u_{\lambda}^{+}+t u_{\lambda}^{-}\right) u_{\lambda}^{+}, I_{\lambda}^{\prime}\left(s u_{\lambda}^{+}+t u_{\lambda}^{-}\right) u_{\lambda}^{-}\right) \\
\Psi_{1}(s, t):=\left(\frac{1}{s} I_{\lambda}^{\prime}(h(s, t)) h^{+}(s, t), \frac{1}{t} I_{\lambda}^{\prime}(h(s, t)) h^{-}(s, t)\right)
\end{gathered}
$$

Lemma 2.1 and the degree theory imply that $\operatorname{deg}\left(\Psi_{0}, D, 0\right)=1$. It follows from that $g=h$ on $\partial D$. Consequently, we obtain

$$
\operatorname{deg}\left(\Psi_{1}, D, 0\right)=\operatorname{deg}\left(\Psi_{0}, D, 0\right)=1
$$

Thus, $\Psi_{1}\left(s_{0}, t_{0}\right)=0$ for some $\left(s_{0}, t_{0}\right) \in D$, so that

$$
\left.\eta\left(1, g\left(s_{0}, t_{0}\right)\right)\right)=h\left(s_{0}, t_{0}\right) \in \mathcal{M}_{\lambda}
$$

which is a contradiction. From this, $u_{\lambda}$ is a critical point of $I_{\lambda}$, moreover, it is a sign-changing solution for problem (1.1).

Now we prove that $u_{\lambda}$ has exactly two nodal domains. By contradiction, we assume that $u_{\lambda}$ has at least three nodal domains $\Omega_{1}, \Omega_{2}, \Omega_{3}$. Without loss generality, we may assume that $u_{\lambda}>0$ a.e. in $\Omega_{1}$ and $u_{\lambda}<0$ a.e. in $\Omega_{2}$. Set

$$
u_{\lambda_{i}}:=\chi_{\Omega_{i}} u_{\lambda}, \quad i=1,2,3
$$

where

$$
\chi_{\Omega_{i}}= \begin{cases}1 & x \in \Omega_{i} \\ 0 & x \in \mathbb{R}^{N} \backslash \Omega_{i}\end{cases}
$$

Then $u_{\lambda_{i}} \neq 0$ and $\left\langle I^{\prime}\left(u_{\lambda}\right), u_{\lambda_{i}}\right\rangle=0$ for $i=1,2,3$, so we have

$$
\left\langle I^{\prime}\left(u_{\lambda_{1}}+u_{\lambda_{2}}\right),\left(u_{\lambda_{1}}+u_{\lambda_{2}}\right)^{ \pm}\right\rangle<0
$$

By Lemma 2.2, there exists $\left(s_{v}, t_{v}\right) \in(0,1] \times(0,1]$ such that $s_{v} u_{\lambda_{1}}+t_{v} u_{\lambda_{2}} \in \mathcal{M}_{\lambda}$. Since

$$
\begin{aligned}
0 & =\frac{1}{4}\left\langle I_{\lambda}^{\prime}\left(u_{\lambda}\right), u_{\lambda_{3}}\right\rangle \\
& =\frac{1}{4}\left\|u_{\lambda_{3}}\right\|^{2}+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda}} u_{\lambda_{3}}{ }^{2} d x-\frac{1}{4} \int_{\mathbb{R}^{3}} f\left(u_{\lambda_{3}}\right) u_{\lambda_{3}} d x \\
& \leq \frac{1}{4}\left\|u_{\lambda_{3}}\right\|^{2}+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda}} u_{\lambda_{3}}{ }^{2} d x-\frac{1}{4} \int_{\mathbb{R}^{3}} F\left(u_{\lambda_{3}}\right) d x \\
& <I_{\lambda}\left(u_{\lambda_{3}}\right)+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{1}}} u_{\lambda_{3}}{ }^{2} d x+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{2}}} u_{\lambda_{3}}{ }^{2} d x .
\end{aligned}
$$

From (H4), we have

$$
\begin{aligned}
m_{\lambda} \leq & I_{\lambda}\left(s_{v} u_{\lambda_{1}}+t_{v} u_{\lambda_{2}}\right) \\
= & I_{\lambda}\left(s_{v} u_{\lambda_{1}}+t_{v} u_{\lambda_{2}}\right)-\frac{1}{4}\left\langle I_{\lambda}^{\prime}\left(s_{v} u_{\lambda_{1}}+t_{v} u_{\lambda_{2}}\right), s_{v} u_{\lambda_{1}}+t_{v} u_{\lambda_{2}}\right\rangle \\
= & \frac{s_{v}^{2}\left\|u_{\lambda_{1}}\right\|^{2}+t_{v}^{2}\left\|u_{\lambda_{2}}\right\|^{2}}{4}+\int_{\mathbb{R}^{3}}\left(\frac{1}{4} f\left(s_{v} u_{\lambda_{1}}\right) s_{v} u_{\lambda_{1}}-F\left(s_{v} u_{\lambda_{1}}\right)\right) d x \\
& +\int_{\mathbb{R}^{3}}\left(\frac{1}{4} f\left(t_{v} u_{\lambda_{2}}\right) t_{v} u_{\lambda_{2}}-F\left(t_{v} u_{\lambda_{2}}\right)\right) d x
\end{aligned}
$$

$$
\begin{aligned}
\leq & \frac{\left\|u_{\lambda_{1}}\right\|^{2}+\left\|u_{\lambda_{2}}\right\|^{2}}{4}+\int_{\mathbb{R}^{3}}\left(\frac{1}{4} f\left(u_{\lambda_{1}}\right) u_{\lambda_{1}}-F\left(u_{\lambda_{1}}\right)\right) d x \\
& +\int_{\mathbb{R}^{3}}\left(\frac{1}{4} f\left(u_{\lambda_{2}}\right) u_{\lambda_{2}}-F\left(u_{\lambda_{2}}\right)\right) d x \\
= & I_{\lambda}\left(u_{\lambda_{1}}\right)+I_{\lambda}\left(u_{\lambda_{2}}\right)+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{2}}} u_{\lambda_{1}}^{2} d x+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{3}}} u_{\lambda_{1}}{ }^{2} d x \\
& +\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{1}}} u_{\lambda_{2}}{ }^{2} d x+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{3}}} u_{\lambda_{2}}{ }^{2} d x \\
< & I_{\lambda}\left(u_{\lambda_{1}}\right)+I_{\lambda}\left(u_{\lambda_{2}}\right)+I_{\lambda}\left(u_{\lambda_{3}}\right)+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{2}}} u_{\lambda_{1}}^{2} d x \\
& +\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{3}}} u_{\lambda_{1}}^{2} d x \quad+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{1}}} u_{\lambda_{2}}{ }^{2} d x+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{3}}} u_{\lambda_{2}}{ }^{2} d x \\
& +\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{1}}} u_{\lambda_{3}}^{2} d x+\frac{\lambda}{4} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{2}}} u_{\lambda_{3}}^{2} d x \\
= & I_{\lambda}\left(u_{\lambda}\right)=m_{\lambda},
\end{aligned}
$$

which is impossible, so $u_{\lambda}$ has exactly two nodal domains.
Proof of Theorem 1.2. As in the proof of Lemma 2.4, for each $\lambda>0$, we can get a $v_{\lambda} \in \mathcal{N}_{\lambda}$ such that $I_{\lambda}\left(v_{\lambda}\right)=c_{\lambda}>0$, where $\mathcal{N}_{\lambda}$ and $c_{\lambda}$ are defined by (1.8) and (1.9), respectively. Moreover, the critical points of $I_{\lambda}$ on $\mathcal{N}_{\lambda}$ are the critical points of $I_{\lambda}$ in $H$. Thus, $v_{\lambda}$ is a ground state solution of problem (1.1).

From Theorem 1.1, we know that problem (1.1) has a least energy sign-changing solution $u_{\lambda}$ which changes sign only once. Suppose that $u_{\lambda}=u_{\lambda}^{+}+u_{\lambda}^{-}$. As the proof of Step 1 in Lemma 2.1, there exist unique $s_{u_{\lambda}^{+}}>0$ and $t_{u_{\lambda}^{-}}>0$ such that

$$
s_{u_{\lambda}^{+}} u_{\lambda}^{+} \in \mathcal{N}_{\lambda}, \quad t_{u_{\lambda}^{-}} u_{\lambda}^{-} \in \mathcal{N}_{\lambda} .
$$

From (1.6) and (1.7), we have

$$
\left\langle I_{\lambda}^{\prime}\left(u_{\lambda}^{+}\right), u_{\lambda}^{+}\right\rangle<0, \quad\left\langle I_{\lambda}^{\prime}\left(u_{\lambda}^{-}\right), u_{\lambda}^{-}\right\rangle<0
$$

So, by (H1)-(H4), one has $s_{u_{\lambda}^{+}} \in(0,1)$ and $t_{u_{\lambda}^{-}} \in(0,1)$. Then, by Lemma 2.3 , we obtain

$$
2 c_{\lambda} \leq I_{\lambda}\left(s_{u_{\lambda}^{+}} u_{\lambda}^{+}\right)+I_{\lambda}\left(t_{u_{\lambda}^{-}} u_{\lambda}^{-}\right) \leq I_{\lambda}\left(s_{u_{\lambda}^{+}} u_{\lambda}^{+}+t_{u_{\lambda}^{-}} u_{\lambda}^{-}\right)<I_{\lambda}\left(u_{\lambda}^{+}+u_{\lambda}^{-}\right)=m_{\lambda}
$$

that is $I_{\lambda}\left(u_{\lambda}\right)>2 c_{\lambda}$, which implies that $c_{\lambda}>0$ can not be achieved by a signchanging function. This completes the proof.

Now we prove Theorem 1.3. In the following, we regard $\lambda>0$ as a parameter in problem (1.1). We shall study the convergence property of $u_{\lambda}$ as $\lambda \searrow 0$.

Proof of Theorem 1.3. For any $\lambda>0$, let $u_{\lambda} \in H$ be the least energy sign-changing solution of problem (1.1) obtained in Theorem 1.1, which has exactly two nodal domains.
Step 1. We show that, for any sequence $\left\{\lambda_{n}\right\}_{n}$ with $\lambda_{n} \searrow 0$ as $n \rightarrow \infty,\left\{u_{\lambda_{n}}\right\}_{n}$ is bounded in $H$. Choose a nonzero function $\varphi \in C_{0}^{\infty}\left(\mathbb{R}^{3}\right)$ with $\varphi^{ \pm} \neq 0$. From $f(s) s-4 F(s) \geq 0$, for $s \neq 0$, we have $f(s) s>4 F(s)$. Then, (H3) implies that, for
any $\lambda \in[0,1]$, there exists a pair $\left(\theta_{1}, \theta_{2}\right) \in\left(\mathbb{R}_{+} \times \mathbb{R}_{+}\right)$, which does not depend on $\lambda$, such that

$$
\begin{aligned}
& \theta_{1}^{2}\left\|\varphi^{+}\right\|^{2}+\theta_{1}^{4} \lambda \int_{\mathbb{R}^{3}} \phi_{\varphi^{+}}\left(\varphi^{+}\right)^{2} d x+\theta_{1}^{2} \theta_{2}^{2} \lambda \int_{\mathbb{R}^{3}} \phi_{\varphi^{-}}\left(\varphi^{+}\right)^{2} d x \\
& -\int_{\mathbb{R}^{3}} f\left(\theta_{1} \varphi^{+}\right) \theta_{1} \varphi^{+} d x<0 \\
& \theta_{2}^{2}\left\|\varphi^{-}\right\|^{2}+\theta_{2}^{4} \lambda \int_{\mathbb{R}^{3}} \phi_{\varphi^{-}}\left(\varphi^{-}\right)^{2} d x+\theta_{2}^{2} \theta_{1}^{2} \lambda \int_{\mathbb{R}^{3}} \phi_{\varphi^{+}}\left(\varphi^{-}\right)^{2} d x \\
& -\int_{\mathbb{R}^{3}} f\left(\theta_{2} \varphi^{-}\right) \theta_{2} \varphi^{-} d x<0
\end{aligned}
$$

In view of Lemmas 2.1 and 2.2 for any $\lambda \in[0,1]$, there is a unique pair $\left(s_{\varphi}(\lambda), t_{\varphi}(\lambda)\right) \in$ $(0,1] \times(0,1]$ such that $\bar{\varphi}:=s_{\varphi}(\lambda) \theta_{1} \varphi^{+}+t_{\varphi}(\lambda) \theta_{2} \varphi^{-} \in \mathcal{M}_{\lambda}$. Thus, for all $\lambda \in[0,1]$, we have

$$
\begin{aligned}
I_{\lambda}\left(u_{\lambda}\right) \leq & I_{\lambda}(\bar{\varphi})=I_{\lambda}(\bar{\varphi})-\frac{1}{4}\left\langle I_{\lambda}^{\prime}(\bar{\varphi}), \bar{\varphi}\right\rangle \\
= & \frac{\|\bar{\varphi}\|^{2}}{4}+\int_{\mathbb{R}^{3}}\left(\frac{1}{4} f(\bar{\varphi}) \bar{\varphi}-F(\bar{\varphi})\right) d x \\
\leq & \frac{\|\bar{\varphi}\|^{2}}{4}+\int_{\mathbb{R}^{3}}\left(C_{3} \bar{\varphi}^{2}+C_{4}|\bar{\varphi}|^{p+1}\right) d x \\
\leq & \frac{\left\|\theta_{1} \varphi^{+}\right\|^{2}}{4}+\frac{\left\|\theta_{2} \varphi^{-}\right\|^{2}}{4}+\int_{\mathbb{R}^{3}}\left(C_{3}\left(\theta_{1} \varphi^{+}\right)^{2}+C_{4}\left|\theta_{1} \varphi^{+}\right|^{p+1}\right. \\
& \left.+C_{3}\left(\theta_{2} \varphi^{-}\right)^{2}+C_{4}\left|\theta_{2} \varphi^{-}\right|^{p+1}\right) d x \\
= & C_{0}
\end{aligned}
$$

Moreover, for $n$ large enough, we obtain

$$
C_{0}+1 \geq I_{\lambda_{n}}\left(u_{\lambda_{n}}\right)=I_{\lambda_{n}}\left(u_{\lambda_{n}}\right)-\frac{1}{4}\left\langle I_{\lambda_{n}}^{\prime}\left(u_{\lambda_{n}}\right), u_{\lambda_{n}}\right\rangle \geq \frac{1}{4}\left\|u_{\lambda_{n}}\right\|^{2}
$$

So $\left\{u_{\lambda_{n}}\right\}_{n}$ is bounded in $H$.
Step 2. There exists a subsequence of $\left\{\lambda_{n}\right\}_{n}$, still denoted by $\left\{\lambda_{n}\right\}_{n}$, such that $u_{\lambda_{n}} \rightharpoonup u_{0}$ weakly in $H$. Then, $u_{0}$ is a weak solution of 1.10 . Since $u_{\lambda_{n}}$ is the least energy sign-changing solution of 1.1 with $\lambda=\lambda_{n}$, then by the compactness of the embedding $H \hookrightarrow L^{q}\left(\mathbb{R}^{3}\right)$ for $2 \leq q<2^{*}$, we obtain that $u_{\lambda_{n}} \rightarrow u_{0}$ strongly in $H$ as $n \rightarrow \infty$. In fact,

$$
\begin{aligned}
\left\|u_{\lambda_{n}}-u_{0}\right\|^{2}= & \left\langle I_{\lambda_{n}}^{\prime}\left(u_{\lambda_{n}}\right)-I_{0}^{\prime}\left(u_{0}\right), u_{\lambda_{n}}-u_{0}\right\rangle-\lambda_{n} \int_{\mathbb{R}^{3}} \phi_{u_{\lambda_{n}}} u_{\lambda_{n}}\left(u_{\lambda_{n}}-u_{0}\right) d x \\
& +\int_{\mathbb{R}^{3}} f\left(u_{\lambda_{n}}\right)\left(u_{\lambda_{n}}-u_{0}\right) d x-\int_{\mathbb{R}^{3}} f\left(u_{0}\right)\left(u_{\lambda_{n}}-u_{0}\right) d x
\end{aligned}
$$

Then $u_{0} \neq 0$ and $u_{0}$ has exactly two nodal domains.
Step 3. Suppose that $v_{0}$ is a least energy sign-changing solution of 1.10 , we may refer to $\left[9\right.$ for the existence of $v_{0}$. By Lemma 2.1, for each $\lambda_{n}>0$, there is a unique
pair $\left(s_{\lambda_{n}}, t_{\lambda_{n}}\right) \in \mathbb{R}_{+} \times \mathbb{R}_{+}$such that $s_{\lambda_{n}} v_{0}^{+}+t_{\lambda_{n}} v_{0}^{-} \in \mathcal{M}_{\lambda_{n}}$. So we have

$$
\begin{aligned}
& s_{\lambda_{n}}^{2}\left\|v_{0}^{+}\right\|^{2}+s_{\lambda_{n}}^{4} \lambda_{n} \int_{\mathbb{R}^{3}} \phi_{v_{0}^{+}}\left(v_{0}^{+}\right)^{2} d x+s_{\lambda_{n}}^{2} t_{\lambda_{n}}^{2} \lambda_{n} \int_{\mathbb{R}^{3}} \phi_{v_{0}^{-}}\left(v_{0}^{+}\right)^{2} d x \\
& =\int_{\mathbb{R}^{3}} f\left(s_{\lambda_{n}} v_{0}^{+}\right) s_{\lambda_{n}} v_{0}^{+} d x \\
& t_{\lambda_{n}}^{2}\left\|v_{0}^{-}\right\|^{2}+t_{\lambda_{n}}^{4} \lambda_{n} \int_{\mathbb{R}^{3}} \phi_{v_{0}^{-}}\left(v_{0}^{-}\right)^{2} d x+s_{\lambda_{n}}^{2} t_{\lambda_{n}}^{2} \lambda_{n} \int_{\mathbb{R}^{3}} \phi_{u^{+}}\left(u^{-}\right)^{2} d x \\
& =\int_{\mathbb{R}^{3}} f\left(t_{\lambda_{n}} v_{0}^{-}\right) t_{\lambda_{n}} v_{0}^{-} d x
\end{aligned}
$$

We know that $v_{0}^{ \pm}$satisfies $\left\|v_{0}^{ \pm}\right\|^{2}=\int_{\mathbb{R}^{3}} f\left(v_{0}^{ \pm}\right) v_{0}^{ \pm} d x$. It is easy to check that

$$
\begin{equation*}
\left(s_{\lambda_{n}}, t_{\lambda_{n}}\right) \rightarrow(1,1), \quad \text { as } n \rightarrow \infty \tag{3.1}
\end{equation*}
$$

From this limit and Lemma 2.3, we have

$$
\begin{aligned}
I_{0}\left(v_{0}\right) & \leq I_{0}\left(u_{0}\right)=\lim _{n \rightarrow \infty} I_{\lambda_{n}}\left(u_{\lambda_{n}}\right)=\lim _{n \rightarrow \infty} I_{\lambda_{n}}\left(u_{\lambda_{n}}^{+}+u_{\lambda_{n}}^{-}\right) \\
& \leq \lim _{n \rightarrow \infty} I_{\lambda_{n}}\left(s_{\lambda_{n}} u_{\lambda_{n}}^{+}+t_{\lambda_{n}} u_{\lambda_{n}}^{-}\right) \\
& =I_{0}\left(v_{0}\right) .
\end{aligned}
$$

This means that $u_{0}$ is a least energy sign-changing solution of 1.10 which has precisely two nodal domains. The proof is complete.

Acknowledgements. C. Ji is supported by NSFC (grant No. 11301181) and China Postdoctoral Science Foundation funded project. F. Fang is supported by NSFC (grant No. 11626038) and Young Teachers Foundation of BTBU (No. QNJJ2016-15). B. Zhang is supported by Research Foundation of Heilongjiang Educational Committee (No. 12541667).

## References

[1] C. O. Alves, M. Souto; Existence of least energy nodal solution for a Schrödinger-Poisson system in bounded domain, Z. Angew. Math. Phys., 65 (2014), 1153-1166.
[2] A. Ambrosetti; On Schrödinger-Poisson systems, Milan J. Math., 76 (2008), 257-274.
[3] A. Azzollini, P. D'Avenia, A. Pomponio; On the Schrödinger-Maxwell equations under the effect of a general nonlinear term, Ann. Inst. H. Poincaré Anal. Non Linéaire, 27 (2010), 779-791.
[4] A. Azzollini, A. Pomponio; Ground state solutions for the nonlinear Schrödinger-Maxwell equations, J. Math. Anal. Appl., 345 (2008), 90-108.
[5] T. Bartsch, Z. Liu, T. Weth; Sign changing solutions of superlinear Schrödinger equations, Commun. Partial Differ. Equ., 29 (2004), 25-42.
[6] T. Bartsch, A. Pankov, Z.-Q. Wang; Nonlinear Schrödinger equations with steep potential well, Comm. Contemp. Math., 3 (2001), 549-569.
[7] T. Bartsch, Z.-Q. Wang; Existence and multiplicity results for some superlinear elliptic problems on $\mathbb{R}^{N}$, Comm. in Partial Differential Equations, 20 (1995), 1725-1741.
[8] T. Bartsch, T. Weth; Three nodal solutions of singularly perturbed elliptic equations on domains without topology, Ann. Inst. H. Poincaré Anal. Non Linéaire, 22 (2005), 259-281.
[9] T. Bartsch, T. Weth, M. Willem; Partial symmetry of least energy nodal solutions to some variational problems, J. Anal. Math., 96 (2005), 1-18.
[10] A. Castro, J. Cossio, J. M. Neuberger; A sign-changing solution for a superlinear Dirichlet problem, Rocky Mountain J. Math., 27 (1997), 1041-1053.
[11] I. Ianni, G. Vaira; On concentration of positive bound states for the Schrödinger-Poisson system with potentials, Adv. Nonlinear Stud., 8 (2008), 573-595.
[12] Y.S. Jiang, H.S. Zhou; Bound states for a stationary nonlinear Schrödinger-Poisson system with sign-changing potential in $\mathbb{R}^{3}$, Acta Mathematica Scientia, 29 (2009), 1095-1104.
[13] G. B. Li, S. J. Peng, S.S. Yan; Infinitely many positive solutions for the nonlinear Schrödinger-Poisson system, Commun. Contemp. Math. 12 (2010), 1069-1092.
[14] Z. L. Liu, Z.-Q. Wang, J. J. Zhang; Infinitely many sign-changing solutions for the nonlinear Schrödinger-Poisson system, Ann. Mat. Pura Appl. 195 (2016), 775-794.
[15] C. Miranda; Un'osservazione su un teorema di Brouwer, Boll. Unione Mat. Ital., 3 (1940), 5-7.
[16] G. Molica Bisci, V. Rădulescu; Ground state solutions of scalar field fractional for Schrödinger equations, Calc. Var. Partial Differential Equations 54 (2015), 2985-3008.
[17] E. S. Noussair, J. Wei; On the effect of the domain geometry on the existence and profile of nodal solution of some singularly perturbed semilinear Dirichlet problem, Indiana Univ. Math. J. 46 (1997), 1321-1332.
[18] P. Rabinowitz; On a class of nonlinear Schrödinger equations, Z. Angew. Math. Phys. 43 (1992) 270-291.
[19] V. Rădulescu, D. Repovš; Partial differential equations with variable exponents. Variational methods and qualitative analysis, Monographs and Research Notes in Mathematics. CRC Press, Boca Raton, FL, 2015.
[20] D. Repovš; Stationary waves of Schrödinger-type equations with variable exponent, Anal. Appl. (Singap.) 13 (2015), 645-661.
[21] D. Ruiz; The Schrödinger-Poisson equation under the effect of a nonlinear local term, J. Funct. Anal., 237 (2006), 655-674.
[22] D. Ruiz; On the Schrödinger-Poisson-Slater system: behavior of minimizers, radial and nonradial cases, Arch. Rational Mech. Anal. 198 (2010), 349-368.
[23] W. Shuai; Sign-changing solutions for a class of Kirchhoff-type problem in bounded domains, J. Differential Equations, 259 (2015), 1256-1274.
[24] W. Shuai, Q. Wang; Existence and asymptotic behavior of sign-changing solutions for the nonlinear Schrödinger-Poisson system in $\mathbb{R}^{3}$. Z. Angew. Math. Phys., 66 (2015), 3267-3282.
[25] Z. P. Wang, H. S. Zhou; Positive solution for a nonlinear stationary Schrödinger Poisson system in $\mathbb{R}^{3}$, Discrete Contin. Dyn. Syst., 18 (2007), 809-816.
[26] Z.P. Wang, H.S. Zhou; Sign-changing solutions for the nonlinear Schrödinger-Poisson system in $\mathbb{R}^{3}$, Calc. Var. Partial Differential Equations, 52 (2015), 927-943.
[27] M. Willem; Minimax Theorems, Birkhäuser, Boston, 1996.
[28] L. G. Zhao, F. K. Zhao; On the existence of solutions for the Schrödinger-Poisson equations, J. Math. Anal. Appl., 346 (2008), 155-169.
[29] W. M. Zou; Sign-Changing Critical Point Theory, Springer, New York, 2008.
[30] X. Zhang, B. L. Zhang, M. Q. Xiang; Ground states for fractional Schrödinger equations involving a critical nonlinearity, Adv. Nonlinear Anal. 5 (2016), 293-314.
[31] X. Zhang, B. L. Zhang, D. Repovš; Existence and symmetry of solutions for critical fractional Schrödinger equations with bounded potentials, Nonlinear Anal., 142 (2016), 48-68.

Chao Ji
Department of Mathematics, East China University of Science and Technology, Shanghai 200237, China

E-mail address: jichao@ecust.edu.cn
Fei Fang
Department of Mathematics, Beijing Technology and Business University, Beijing 100048, China

E-mail address: fangfei68@163.com
Binlin Zhang (corresponding author)
Department of Mathematics, Heilongjiang Institute of Technology, Harbin 150050, China

E-mail address: zhangbinlin2012@163.com


[^0]:    2010 Mathematics Subject Classification. 35J20, 35J60.
    Key words and phrases. Schrödinger-Poisson system; sign-changing solutions; constraint variational method; quantitative deformation lemma.
    (C)2017 Texas State University.

    Submitted September 9, 2017. Published November 13, 2017.

